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l ) Vhat was the site located on the banks of river Sab vhere ancient civilization in Rajasthan was settled 'J

1) Giloond

3) Nagari

2) Jodhpur

4) Baror

1) ~ ~ ~ nc 1R ~ ~ c5T ~ q?f ~ ~-Wf ~ ~\3TTm?

1) ~ 2) \JlT~

3) m 4) ~

2) Which historian has claimed that the Chouhans originated from the Brahmin ?

1) Dr. Bhandarkar

3) Dr.Ojah

2) Cunningham

4) C.Y.Vaidh

2) ~ ~Rl6IBCf)I{ ;r ~ Cf)l ~ ci~T -?r ~ ~ ~ ~?
1) if. 'l:j0i3I{Cf){ 2) ~

3) if. iimT 4) m.cft.ft~

3) On which ruler was bestowed the title of 'Kavi-versh' ?

1) Abhay Singh 2) Munj

3) Pratap Singh

3) "com ~" ~ I31TIfu ~ WIT c5T ~ Tf4t m?
1) ~m
3) >fill11 m

4) RavJodha

2) "!fif

4) m \JlTm

4) When did the 'third saka' of Chittor take place?

1) 1568AD

3) 1567 AD

4) ~ q?f '~BTCI)T' ~ ~\3TT?

1) 1568 t.
3) 1567 t.

2) 1569 AD

4) 1570AD

2) 1569 t.
4) 1570~.

5) Where is the 'Chalphirshah's' dargah located in Raj asthan ?

1) Chittor garh 2) Ajmer

3) Nagour 4) Jaipur

09 - +:+ 3
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1) Delhi

3) Bikaner•

2) Alwar

4) Sikar

2) i3fJlo/

4) ~3) ~

6) What are 'Ghoonght', 'Gugadi', 'Bandra', 'Imli' ?

1) The names oflarge bations on the parapets of Taragarh (Ajmer).

2) The names of the castes(Jati) in the gotra as per the folk tradition in marwar.

3) The names of the garments worm by ladies in interior of mewar.

4) The rituals of food habits of Rajasthan.

6) "~", "~", "~", ~" CF:lT %?
1) ~ ~ ~ ~ ~ fcr~mrr~ ~ Yflll

2) ~~~~if~~-.frif~~
3) ~ 0iiqfBlq) if fur:if ~ ~ ~ ~
4) ~-fRr @HqH ~ ~ ~ Yflll

7) Where is the main peeth of 'Charandasi seet' ?

7) q<OIC::IB"1 ~ ~ m.TR 1fto ~ %?
1) ~

3) cflCf)I~{

2) ~

4) 00

1) For patch work 2) For mud toys
3) For jut patti's 4) For iron implements

8) TWfR q)f u"f(' TJTq FcbBfBl ct ~ ~0iT CfmIT en-?
0/"' 1) ~~~ 2) ~~~~~~
6 ~'lfr~~ ~~flU~Wrct3) 4)

8) The 'Boo' village of Nagour was famous for which reason?

9) About which workis the following statement mode we don't know whether such a larg~pllblishedmanusclipt
is available in india of the world?

1) Rag Ratnakar

3) Vansh Bhashkar

2) RagKalpdroom

4) Shrangar Har I
r

4 I
1:
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9) "~~ fct ~ ~ ~ TI~ 'liT«f Gt m ep:rr ~ ctr \coBI ~ if % m ~I" ~ ~~ \Cb(1.TI~
~ em: if %T 'FIT ~?

2) UTT~

4) Tm:w
10) Where is the Ornament 'Poth', 'Hankar', 'Sari'worn?

1) Innose

3) Around the neck

10) 1:ffif, ~, BiT, ~ ~ ~ \JffiIT %?
1) ~ if
3) <Wr if

2) In ear

4) In the feet

2) cnRf if
4) tRT if

11) Which statement regarding Kuchamani khayal is not correct?

1) The founder of Kuchamani khayal is Lacchirarn.

2) In this male artist performed the female part also.

3) The main artist are chetram, Hammid beg, Tarachand.

4) In this the dancer's are also the singer.

11) u9j-q1lOl'1"1&ffiif" ~ ~ ~ cn~ Btr1tt~?
r

1) 9j-qly"\I·"@ffifj ~ ~ ~=a:§l~IY ~I

2) ~~~m~~CI?T~cn@~1

3) ~ Cf)~ICf)H ~, ~ irT, \1HI-q<G ~ ~I

4) ~ ~ m TfR eN 1lffi ~I

12) Where in Rajasthan is located the 'Tripura Sundarimata temple'?

1) Banswara

3) Jalore

2) Banner

4) Jaisalmer

12) "~~ 11Tffi" cnr ~ ~ if "%Tw.m-~?
1) CliBClI$1 2) ~

3) ~ 4) d1B~~(

13) Who established 'Vidhyarthi Youth League'in Delhi 1929 AD ?

1) Tikaram Paliwal

3) Janaki Devi Bajaj

2) Master Aadityendra

4) Manikya lal Verma
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13) "01cnm ~-l ffi.T" (J .29 ~) c8 ~TTCR1'1'd:141if fq;'81 GlTt?

1) tl(fil{l~ qlffiql~ 2) ~ 01IRJ:l'1,

3) ~ ~ ~ 4) 411UICNMIM ern
14) The category 'Davi' and 'Jeevani' of Nobales was popular in which part of Rajasthan ?

1) Jaisalmer

3) Marwar

2) Udaipur

4) Kotah

..
14) "sF::!I" 0ffi "~" ~ c8.€tufT ~-lR if ~ ~ m?

1) ,JiBMih 2) ~

3) ~ 4) ci'rcT

15) Which code does not match?

Prajamandal Founder

A) Jaisalmer Meethalal Vyas

B) Kotah Nayanuram Sharma

C) Jaipur . Kapoorchand Patani

D) Bundi GopilalYadav

1) A 2) B

3) C 4) D

15) riRm ~ ~ 1tt %?
SOl\J1I~O:SM ~

A) Sl'8MY{ l=i!OIMIM Clfffi
B) ci'rcT <i;qI'i{I~ ~lllf

C) ~ Cf)'{<i'.l;e: ~

D) ¥t ~llcnMIM ~;

1) A 2) B

3) C 4), D

16) In the merger of rajasthan states to know the opinion of the people of Bharatpur, Dholpur, Riyasats,

committee was constitud in that committee who was not included ?

1) Dr. Shankar Rav Dev

3) PrabhuDayal

2) R.K. Sidhawa

4) M.S. Jain
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16) ~ C!>chlCf){Ot if ~, t~IM3.;U<:IlBct'i 'R \iG'fiTI rtt 7J<:I"~ ~ ffiq qcn cni\it em 1Wl fc'n<:IT ~ m,
~m if ~ tlf4iRid ~t>1 m?
I) if. ~mm itq

3)~

2) ~.t. fu~
4) ~.~.:JR-

17) Who established the Sardul Rajasthani Research Institute?

1) Dashrath Sharma 2) Raichand

3) JemsTod 4) Ramkaran Aasopa

17) B$r ~ ftw:f ~~~<icrtt ~ ~ cfiT?

I) G:~R~~lllf 2) ~

3) ~cfu 4) ~ 0ffiiTcrr

18) Which code does not match?

State Political Agent

A) Udaipur c.L. Shawarsh
B) Kotah Major Berton

C) Jaipur Major Lawrence

D) Bharatpur Major Nixon

1) A 2) B

3) C 4) D

18)~CfC~~~?
~ 4IM12:Cf)(i\ ~

A) ~ m.~.~m
B) ~ ~~
C) ~ ~~
D) ~ ~~

1) A 2) B

3) C 4) D

19) In which area did the Bhagat movement start ?

1) Udaipur - Chittorgarh 2) Dungarpur - Banswara

3) Sirohi - Pali 4) Banner- Sirohi

7
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19) "'o/ffi~" W .~ if ~~;m m?
M .11) ~ -n\i?IG

3) fuittT - ~

JC

2) ~ - CliffCl1?$1

4) ~ - fufrtr
20) Who did the foundation of the fort of Nawalkhan in Jhalrapatan ?

1) Madan Singh 2) Prithwi Singh

3) Ratan Singh

20) ~1~{Iqj(:'i if 'iCl{i1@1~ cfit -.ncr ~ -nsTr?
1) ~~

3) «1'i" ~

21) Shape of Rajasthan state is-

1) Quadrangular

3) Equiangular

21) ~..wr ~ cfit ~ % -
1) -q gtihl o~1I
3) (=IJOi41/oTIlI r

•
22) Latitudinal extent of Rajasthan state is -

1) 23°31 to 30°121 North

3) 23°31 to 30°111 North

22) ~..wr ~ COT0fm~fr<:r ~ % -
1) 23°31"G 30°121 ~

3) 23°3I"G 30°111 \5W

4) JalimSingh

2) Rhombus

4) Hexagonal

2) ~\SlJOiq)ltJnll

4) GI~chlOTIlI

2) 24°31 to 30°111 North

4) 24°41 to 31 °151 North
l'~"

2) 2403r~13~f''I.i3O{
4) 24oJ(~f3[61;51~

.p,.¥.; '.

23). Which one of the following is the highest mou?tainpeak of Aravallis ?
({

1) Jarga 2) Ser

3) Raghunathgarh 4) Taragarh

2) m
4) ~

09· .:. 8
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24) Inwhich physical di- .sion of Rajasthan are theMukandra Hills located?

1) SouthemAravalli

3) Hadoti Plateau

2) Shekhawati Region

4) Bhorat Plateau

24) ~ ~ W ~ fcriwr if ~ c5t qf?IT:$t:l1W-ld ~?
1) GJ~-uTI~ 2) ~~ ~

3) ~ qon: 4) ~"'Trrcqon:

25) 'Uparmal' is part of -

1) Bhorat plateau

3) Abu plateau

2) Hadauti plateau

4) Nagaur plateau

25) 'iJjq {11 1t'1 , % -
1) ~ Cf)T qorfr 'lWT

3) ~ Cf)Tm 'qflT

26) Topography of Tnar desert is dominated by what type of sand dunes?

1) Longitudinal 2) Transverse

3) Barchan 4) Parabolic

26) ~ ~ ~ ~ fctffi w.nR ~ GlIt!<'.bi«l,.jY BeRT ¢ %?
1) QcFlIjcldl 2) '~

3) ~ 4) q~JCj1WI<'.b

27) In terms of length within Raja,sthanterritory the correct ascending order of the rivers is -

1) Kantli - Chambal- Luni - Banas 2) Chambal- Luni - Banas - Kantli

3) Luni - Banas - Ka~tli - Charnbal 4) Banas - Kantli - Chambal- Luni

27) ~ ~~ if ~ c5tmB ~ Cf)T.~ ~ ~ %-
1) ~ - ~ - ~ - CARl 2) ~ - ~ - GRffi - ~

3) ~ - CARl - ~ - ~ 4) CARl - ~ - ~ - ~

28) Which one of the following is not a reason for scanty rainfall in western Rajasthan?

1) Location ofAravalli

2) Location in rain shadow zone
3) Excessive heat during oncomingmonsoon
4) High air pressure during summers

09· .:. 9
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28) "Cfi~ ~~~ il ~ w if) Wn:; f~9if2hC1 if # ~-m % c,ffiUT ~ %?
1) ~cm~~
2) effie tWTI W;:~Tif 01clWm

3) ~ 3WT+f1 ~ w-r<:f if ~-~
4) £l"IGjChI~ ~ ~ ~ ~

29) Which of the following soils extend over the largest area of Rajasthan ?

1) Aridisols and Vertisols

3) Vertisols and Alfisols

2) Aridisols and Entisols

4) Inceptisols

29) Pp"""1iFcbd if B~-m Rtt ~ ~ (1qlfq-rq) ~ en: ~ %?
1) CZfHl«1iYB ~ qth:ii«B 2) CZR:S101«B ~ CZfilc01«B

30) What type of natural vegetation is found in Mt. Abu region?

1) Tropical evergreen

3) Semi - arid deciduous

2) Sub - tropical evergreen

4) T~piCal thorn
ii

31) Protected by law and included in world heritage ~e unigHe ~~f~~~pn spot in Raj asw,'Hlis -

1) Ranthambhor 2) Keoladeo Ghana
'fk-t't} f4~i~ii -~~t~,d~~,r

3) Darrah DeSert'xiati~n~ Park
31) ~ if ~ ~ ~ ~m ~~q ~~itrnftwr ~ qm m~ ~%-

1) ~~ 2) Chq~laq CRT

3) ~ 4) % ~ i3""UR

32) What is the rootcause of de.sertification in.R..ajasthan?
if - _

1) Frequent droughts

3) Loss of vegetative cover

2) Loss of soil cover ,
; lifl,k\f/>f! 1

4) Deepening ground water level

Ol
10



JC

32) ~-.:rR if ~~ rrr emlffi qmur CRTI ~?
I) ~ c€t iSll(~I(ctl

3) cH{l41d~ a-rq
2) filiT 01TcRUT zy:r

4)~~~

33) Crops grown in the largest cultivated area (2013-14) of Rajasthan are-

1) Pulses 2) Oilseeds

3) Cereals 4) Sugarcane and cotton

33) 7JIJn:-m1 ~ ~ ~ fur (2013-14) if ~ \!fR CffifIT ~ ~ -

1) ~ 2) ~

3) '3RT\Jf

34) According to the livestock census 2012 (Provisional) the total Iivestock number of Rajasthan is -

1) 4911acs 2) 547lacs

3) 5771acs 4) 566lacs

34) qcf 2012 c€t"Cf~ (~) ~ ~ ~ c€t ~"Cf~ Wgn- ~-
1) 491 ~ 2) 547~

3) 577 ~ 4) 566 ~

35) Which one~f the following irrigation projects is thejoint venture of Rajasthan, Punjab andHaryana states?

1) Indira Gandhi Canal 2) MahiBajajSagar

3) Beas 4) Narmada Canal

35) f.:19W1f@ct if it cN1-m ~ qR£lI\JI'i1 ~, ~ q ~R£11011~ c€t ~ qR£ll\JI'i1 ~?
1) ~ TfTm ~ 2) l1rtT ~ mTR

3) ClITB 4) m~
36) Which of the districts of Rajasthan are benefited byChoudhary Kumbha Ram lift ofIndira Gandhi Canal?

1) HanumangarhandChuru 2) GanganagarandBikaner

3) Sikar and Jhunjhunu 4) Jodhpur and Nagaur

1) Q'j}""lIT"fll{f ~ ~

3) ~.~~

2) lj;IIT"f41( ~ &W
4)~~~

11
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37) Natio~~l Highway of Rajasthan which forms part of bo.a the Golden Quadrant project as well as the East -
West corridor -

1) NH No. 79

3) NHNo.8

2) NH No. 15

4) NH No. 76

37) ~ COT ~ ~ \JlT ~ ~ ~ (fm ~-~ CflmiH ~ COT R>H"l1 ~ -

1) ~~B&n79 2) -n$~~ 15

3) ~ ~ -B-&:n 8 4) ~ ~ -B-&:n 76

38) Road route of Rajasthan included in 'Super National Highway' is named as-

1) Maharana Pratap Route

3) Express way

2) MaharajaAgrasen Route

4) Mega Highway

38) '~~~FWr ~ if' ~ if ~MRi1d ~ ~ ~ 1WT COT ~ % -
1) l11?I{IOlt >fffi1l1WT 2) 11~1~1\Jj1~ 1WT

3) QCffiQ~ if 4) i{Tn ~ ~

39) Jhamar Kotra is famous for the mining of -

1) Lead and Zinc..
3) Rock Phosphate

39) "$WR ~ fm1 ~ ~ fW; ~ t % ~ -

1) mm ~ \lffi1T

3) Uco~

2) Manganese

4) Silver

2) ~

4) ~

40) Which district of Rajasthan currently produces maximum quantity of Gypsum ?

1) Bikaner 2) Jaisalmer

3) Hanumangarh 4) Nagaur

40) ~mq COT~-m ~ ~ if ~ COT \31T~ ~ ~ ~?
1) GllCflI~< 2) d1~MY{
3) ~jl1l'"Pll' 4) ~

41) Maximum permissible wear in stones for road work is

1) 1%

3) 3 %

2) 2 %

4) 4%

O!
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1) 1 %

3) 3%

2) 2 %

4) 4%

42) A good brick earth can be rolled without breaking in small thread of diameter

1) Lrnm 2) 3mm

3) 6mm 4) lOmm

42) ~ GAR t!~ fi:!tr cir mil ~ w:r if ~ __ czm:T if ~ (Roll) fclim m BCPm %1

1) Imm 2) 3mm

3) 6mm 4) lOmm

43) Fat lime is used for best performance in. _

1) Masonry mortar

3) plaster work

2) Lime concrete

4) none

43) W9 ~ COT ~ ffi ~ t!~ \j~1CR1 %
1) ~ l1mffi 2) 'i:fIT~

3) ~c0r4

44) Which of the !ollowing grades of concrete in R.C.C. is recommended for severe exposure condition by BIS ?

1) MIS

3) M25

2) M20

4) M30

44) ffi if U·ctf.:r m ~ its R.C.C. t!~ (severe exposure) 1:!"ftW~ if BIS &m ~ %?
1) MI5 2) M20

3) M25 4) M30

45) Which of the following minerals has more than 50% share in rapid hardening cement

1) C2S

3) C3A
2) C3S

4) C4AF

45) f.'r:;r if uH- mil'LIACfJ ~ (chemical compound) COT50 % U~ mwr rapid hardening cement if
~-~?
(i1\11 ~.

1) C2S

3) C3A
2) C3S

4) C4AF

09 - +:+ 13



JC

1 ~ 46) Which of the following range of p. _;r'ientvolume concentration number is recommendr -1 for painrfor prime
coat on metal ?

1) 25 - 40

3) 50 - 60

2) 40 -50

4) 60 - 70

46) mg: I:Rprime coat ~ R9 if B ~ PVCN c8 range ~ ill II
1) 25 - 40

3) 50 - 60

2) 40 -50

4) 60 - 70

47) The best season for felling of trees for timber production in hilly area

1) Summer

3) Monsoon

2) Winter

4) Spring

47) Timber"Snfu %g q(?ii$i if it9 ~ c5T~ ~ ~ %1
1) wIT 2) 00
3) cr:n 4) ~

1) IS 456

3) IS1893

2) IS 383

4) IS 1237

48) Which of the following Indian standard is referred to determine zone of fme aggregat~,?

{-;,')f)<~",;JbSo!<'<r;;J-·\.l .-.- <

48) R9- if B ~ ~ l1ACf) ~ m if ~ Wr crrffi ta ~ r:pnCfl<ol~ ~ ~ ~ %7
1) IS 456 2) IS 383

3) IS1893 4) IS 1237

49) A dummy activity in a project network does not consume

1) TITre

3) Money

2) Material

4) All the above

I
50) In a CPM network latest finish time for an event 1 is 10 weeks. Activity i - j takes 4 weeks for cQmPletioll

. Event J starts after 16 weeks. Float for activity i - j is

1) 6 weeks 2) 12 weeks I

1) ~ 2)~

3) trm

3) 10 weeks 4) 2 weeks

O~
09 - .:. 14



JC

50) ~ CPM ~ if event T CfJT f~ijjRld W1fTFf {'P-l"iO:! 10 ~ %1
Activity i - j ~ -&R- if 4 ~ CfJT ~ MT ~I <:fN~qld
Event 'J' qRlIl'it'il ih ~ ~ B ~ iidl %1
Activity i - j CfJT float ~ ~I

1) 6~

3) 10 ~

51) Surface tension is due to -

1) Cohesion and adhesion

3) adhesion only

51) TS6 "d'lfCr W ~ Bmen- %?

1)~~~

3)~~

52) The absolute pressure is equal to

1) Gauge pressure +Vaccum pressure

2) Atmospheric pressure T Vaccum pressure
-fI

3) Gauge pressure +Atmospheric pressure

4) Gauge pressure - Vaccum pressure

52) ~~ GJCf CfJT l1R ~ ~ men- % -
1) w:rrcfrGJCf + f.:!qfu- GJCf

3) w:rrcfr GJCf + C!19,1=is <:RI II CJGf

2) 12 ~

4) 2~

2) Cohesion only

4) None of the above

2) R~ch~

2) C!lgl=i:SMllI GJCf - Acffi=r GJCf

4) w:rr:IT GJCf - p,--qfu GJCf

53) The centre of gravity of the volume of the liquid displaced is called

2) Meta centre

4) None of the above

2)~~

4) ~ if B ~ 1tt

15

1) Centre of buoyancy

3) Centre of pressure

1) -j~lqChdl ~

3) GJCf ~
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.\c: 54) Which of the following function' oresent the velocity potential of a function?

I) ~ = x2 + y2

3) ~ = 2 x2y2

2) ~= x2_y2

4) ~ = x3 _ y3

1) ~ = x2+ y2

3) ~ = 2 x2y2

2) ~= x2_y2

4) ~ = x' _ y3

55) Which of the following pressure units represents the least pressure?

1) Nzmm?

3) Millibar

2) Kgf/cm"

4) mm of mercury

55) f.Fr if u ~ cfit ~ m ~, Wf U C5+=r ~ ciT C::~Tfm% -
1) ~ I crf mAT. 2) fcf;.m I crf UA'r.
3) fi:rffi. GfR 4) ~ CfiT fiT.-4t .

56) The reading of differential manometer of a venturi meter placed at 45°to the horizontal is 11ern. If the
venturimeters is tumed to horizontal position, the manometer reading will be

1) Zero

3). 11 ern

2) 11/.J2cm
4) 11.J2 crn

56) ~ ~'i~n41c:< ~ B 45° ~ ~ 'R m-mm ~ t '\3B ~ 'iic::<{ilCfJ C,I~'Pw:f1qW'ftfm 11 ~4"1 %1
"\ 51!'\ --':".::\A-.- l=;>c-rPr Y ~ --rl- !'\" ,,~. ~

~ Cl'i~;Il:HC:< C!11 c.11\1\Jl 1~1\1 II -nsrr \Jl1<-t, \11 ~IGl4Iql CfiT~Ql'II\"

1) ~~ 2) 11/.J2 frU.
3) 11Blft 4) 1l.J2 €FTI

57) The Cippoleti weir is a weir.

1) Circular

3) Triangular

57) rou:j1!118 fcr:R, ~ fcr:R % -
1) ,{nICfJI{

3)~

2) Rectangular

4) Trapezoidal

2) 0i1~dICfJI<

4) (i4(iilOClICfJI<

O~
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58) The power transmitted through the pipe is maximum when the head loss due friction is equal to

1) 1/74 th of the total supply head
2) 1173 rd of the total supply head

3) 4) 2/h ofthe total supply head 73 rd of the total supply head

58) ~ ~ &TIT ~ ~m~ ~ <3ff~ ~llTI~ q-rsf-ur ~frST~mf.:rq ~ ~ i'PIl -
1) \3CW1Qf~M c6r y; th 2) ~Qf ~frsTc6r }j' rd

3) \jq~~ ~M c6r h 4) ~Qf ~frsTc6r % rd

59) Due to aging of a pipe line, its carrying capacity has decreased by 25 %. The corresponding increase in the
Darcy weisbach friction factor f is %

1) 63 %

3) 56 %

2) 77 %

4) None ofthe above

59) ~ ~ BP-':[~ ~ c6r ~ ~ if 25 % ~ mill %1srm ~ ~ ~~, f if ~ Cl)ROT lr::fld••fl
~~-

1) 63 %

3) 56 %

2) 77 %

4) Ijqg,Cfd if B cnl{ ~

60) The friction factor of laminar liquid flow in a circular pipe is proportional to
•

1) Inversely to the Reynold's number

2) Square to the Reynold's number

3) Square root of the Reynold's number

4) Reynold's number

60) Q;CfJ. lU«lICf,H ~ if ~ emit ~ ~ ~ Cl)ROT ~ ~ 01jqlRiGh % -
1) tmrs ~ ~ "1ihYljQIct'i

3) tmrs ~ it ~ ~ 01jQlmCh

2) ~ rrcR ~ crt ~ 01jQlldCfl

4) ~ rrcR ~ 0ljQtR1Ch

61) The local mean time at a place located in longitude 90° 401 E when the standard time is 6 hours and 39
minutes and the standard meridian is 82° 301 E is

1) 5 hours, 2 minutes and 40 seconds

2) 5 hours, 47 minutes and 20 seconds

3) 6 hours and 30 minutes

4) 7 hours, 02 minutes and 40 seconds

09 - .:. 17
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61) ~~..lR;sIT 90' 4<YE ~~RR 111: W-m %1~ ~ ~ ~ 6t:[Uf' 30f1:Rc ~ ~ 'lw,,:flfH
82° 30' Em m \3'B mR CfiT~.lI--Tl"W:r 11m B<=r:r (',-",'11-

1) 5 uut, 2 f1:Rc ~ 40 funus
3) 6 uut ~ 30 fif:fc

2) 5~,47f?Rc ~20~

4) 7uut, 02 fiRe ~ 40~

62) The survey in which the earth's curvature is also considered is called

1) Topographical survey

3) (Jeodeticsurvey

2) Plain survey

4) Preliminary survey

62) % Bif&1UT ~ lf~ ~ ~ c€r .qr mR it '{@T \JlTill ~, % ~ -

1) zy:jl:1lqJHCfJ ~&1UT 2) m'qRUf ~&1UT

3) ~ ~~ 4) ~-wf&1UT

63) The latitude and departure of a line AB are +78 m and -45.1m, respectively. The whole circle bearing of the
lineABis

1) 150°

3) 300

2) 3300

4) 1200

63) Moo AB $ 01~~T ~ ~ CfiTl1R ~~T: +78lTI. ~ -45.1lTI. ~I~ 00 AB $~ R~l111 CfiT
l1R ~-

1) 150°

3) 30°

2) 3300

4) 1200

64) A series of closed contour lines on the map with lower to higher vahies inside them, represents a

1) Hill
3) Depression

2) Ridge

4) Steep slope

64) ~ l111fi'l';l if cfc: ~ oodt~ ~ ~ co'f.:c?R ~ 0ffi Cf)l1 it ~ l1R m, CfJ~«lI(41 ~ -

1) ,~ 2) mtt
3) '®' 4)~~

65) Two-point problem and three - point problem are method of

1) Resection

3) Orientation and resection

2) Orientation

4) None of these
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1) 0hi(UFl

3 ) ~..:rr:l'1r:;ci i3Ffi (EH 'i
2)~~

4) <;y4CR1 if fr ~ .m
66) The collimation method for obtaining the reduced levels of points does not provide a check on

1) Fore sights

3) Change points

2) Back sights

4) Intermediate sights

1) i3HItq~,il4i'i

3) qRCld'i ~
-,

4) BUll f.Ri11Cfl'i

67) Size of a theodolite is specified by

1) Diameter oflower plate

3) Length of telescope

2) Diameter of upper plate

4) Diameter of vertical circle

~"\"\ 4-- "\~Pt-,...... "
67) T~lglfill~c Cf) ~ CflT I"I~~ 1Cf)<-41\JITill ts -

1) ~ ~ CflT a:rm
3) ~c5T~

•
68) The point on the celestial sphere vertically below the observa's position is called

1) Pole

3) Zenith

2) Celestial point

4) Nadir

68) \3WfiT~T CflT ~ ~ ~ ~ "C!Wr it -;ftitc5T~ ~ m, (f)Qfilidl ~ -

1) qq 2) J1lGf)T~f8l.~

3) ~~ 4) i31~

69) The most widely used antenna in GPS is

1) Slotted antenna 2) Microstrip antenna

3) Parabolic antenna A) Horn antenna

69) iJTI.tfr. ~. if ffCffi1rcn CflTtf \31R crwrr ~ ~ -
1) ~~ 2) ~~~

3) im~~ 4) m-.f~
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7'~)'!fh long and short wall method of estimation, the; 19th oflong wall is tire centre to centre distance bet' 'een
the walls and plus

1) Breadth of the wall
2) Half breadth of wall on each side
3) One fourth breadth of wall on each side

4) None of these

70) ~ ~ zrcl met m-cm: ~ ii, ~ m ctT ~, m.=rr ~ ~ ~ it ~«;, c€t ~ (f2T[ "'"''''

~~mmt-
1) mew q5t ~ 2) ~ ~ mew ,c8 0W-TI:J\91~

4) ~iiB~-.m

71) A catchment consists of 40% area with run-off coefficient 0.30 with the remaining 60% area with run-off
coefficient 0.50. The equivalent run-off coefficient will be

1) 0.38

3) 0.48

2) 0.42

4) 0.52

71) qcn;mrr ~ ~ 40% I${ CfiT ~ i3lfCn~ 0.30 t JfR ~ ~ CfiT B ~ ~ 0.50 tl B1i Cfi~ B ~
~~I

1) 0.38 2) 0.42
3) 0.48 4) 0.52

72) For calculating the maximum flood discharge in an alluvial stream, Which is the best suited relation?

1) V a RI/2 S1I2

3) V a R2I3 S1I2

2) V 0: R2I3 S1/3

4) V a DO.64

1) V 0: RI/2 S1I2 2) Vo: R2I3 SII3

3) V 0: R2I3 S112 4) V 0: DO.64

73) Discharge per unit drawdown at a well is called

1) Specific capacity 2) Specific storage

3) Specific yield 4) None of the above
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73) ~ rit 1R ~ ~ ~ ~ if ~ CflgiTjlrll ~

1) fcYr~~ ~ 2) P-rf~Tcc~

74) Water present in an artesian aquifer is usually

1) At 0.5 time of the atmospheric pressure

2) Above atmospheric pressure

3) At sub atmospheric pressure

4) At atmospheric pressure

1) ClI<jJOlOs<'l ~ CfiT 0.5 :rm
. "3) \jlf ClI<jJOls~l<Ol zyc.r. 1R

2) Cllg,,"!os(f1 CJCT if ~
4) QlgY\i101<Ol ?JCl1R

75) The water utilized by plants is available in the form of

1) Hydroscopic water

3) Gravity water

2) Chemical water

4) Capillary water

75) 1:frm &m ~ fco<:rr~ qwrr q-r;:fi fcR1 ffl it ~~ m-m %
1) ~!?fT l1AT 2) {IBI<OlHCfJ q-r;:fi

••
3) 2'5l:CllCfJt;fUI l1AT 4) ~m q-r;:fi

76) A canal has designed to supply the irrigation needs of 1000 ha of land growing rise of 140 days base period
and having a delta of 126 em. If the canal water is used to irrigate wheat of base period 120 days and having
a delta of 60cm, the area that can be irrigated is

1) 1600 ha

3) 2000 ha

2) 1800 ha

4) 2200 ha

76) ~ ~ ctt ~ ~ WN{ if c81T{ % fcn ~ 1000 ~ ~ c8 ~ ~ Wt ~ 1R~ ~ ~
~ 140 ~ i3fR ~ 126 fr:IT%1 ~.~. CfiT qAT rt{ c8 ~ t Wrq ~ it fW:rr ~ ~ ~
~ 120 ~ 0fu: ~ 7 fr:IT % ~ ~ ~ ~ fcn<n \lfT "BCfJd1 %1
1) 1600 ~

3) 2000 ~

2) 1800~

4) 2200 ~
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77) In the alignment of an irrigation channel wherefrom off takes have to be provided at regular intervals,
changes in the given channel parameters are made of. The correct sequence of the decreasing order of
preference of these parameters is

1) Depth, slope,width 2) Depth, width, slope

3) Width, slope, depth 4) Width, depth, slope

77) ~ ~ ~ ~ ~ it \>1~1B 0iICfltChfi ~ ~ 1R ~ ~ ~ t ~~l=!lqdii if qRqJ ..•
~ \JffiIT %1 ~ ~ c€t ~ ~ ~ ~ em mt ~ %
1) ~, ~, ~ 2) ~, ~, cmrr
3) ~,~,~ 4) ~,~,~

78) A ridge canal is called a:

1) Across the contours

3) Side slope canal

2) Contour canal

4) Watershed canal

78) ~ ftJl m c5T com \ifK1T %
1) ~$m
3) 1:fT~cf~ m

r

79) Lacey's silt factor for medium silt whose average grain size is 0.25 mm, is likely to be

1) 0.66

3) 0.88

2) 0.77

4) 0.99

1) 0.66

3) 0.88

2) 0.77

4) 0.99

80) Garret's diagrams are based on

1} Bligh's theory

3) Khosla's theory

2) Kennedy's theory

4) Laey's theory

80) W ~ fu?r 01Tmftr ~ %1
1) Fwr~~~1R

3) @rmrrr$ ~ 1R
. "'

2) ~~~1R

4) #lm~~1R
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81) Which of the following method is most accu~ate for the determination of the water content of 'oil

1) Oven drying method 2) Pynomcter method

3) Sand bath method 4) Calcium carbide method

1) ~lcF1~1~11if~
3) ~ cn~il~

2) q'ill"l'jcf il~
4) %W:m::r1ChliSll~S if~

82) The plastic limit and liquid limit of a soil sample are 35% and 70% respectively. The percentage of soil
fraction with grain size finer than 0.OO2mm is 25. The activity ratio of the soil sample is

1) 0.6

3) 1.4

2) 1.0

4) 1.8

82) ~ ~ t~ $T ~lfkCh m.n ~ ~ m.n ~~T: 35% \3fu: 70% ~ I ~ ~ q)Ufcpf ~ 0.002
~.~. B l1tR ~ ~ \3t~T~~m 25 %, ill ftr¢r ?E ~ Chl ctf<kRltl mFIT ~
1) 0.6

3) 1.4

2) 1.0

4) 1.8

83) The hydraulic head that would produce a quick sand condition in a sand stratum of thickness 1.8m, specific
gravity 2.65 and void ratio 0.65 is equal-to

1) 1.0m

3) 1.6m

2) 1.2m

4) 1.8m
•

83) ~ tf Chl \ffif ~ l1'rcr{ 1.8m, \3ll-trr&1cn ~ 2.65 \3fu: ftRrm ~ 0.65~, if ~~c5it~R ~
Cfl0 ?E ~ (>1~~RrlCh ~ WIT I

1) 1.0~

3) 1.6~

2) 1.2 ~

4) 1.8 ~

84) The hydrostatic pressure on the Phreatic line within a dam section is

1) Greater than atmospheric pressure

3) Less than atmospheric pressure

2) Equal to atmospheric pressure

4) Noneoftheabove

1) ClI9:~g<1~<::J~ B ~
3) cllgs:i:g~1 ~ B Cfili

2) ClI9,s:igfll<::J~ ?E ~

4) \3Q<lCFiif B ~ 1tT
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G( 85) For a particular loading condi .mua saturated clay layer undergoes 30% consolid: .ion in a period of 180
days. What would be the additional time required for further 20% consolidation to occur

1) 320 days

3) 220days

2) 280days

4) 160 days

1)

2)

3)

4)

5.89

4.89

3.60
2.60

550

450

310
310

50

25

35
25'

3

3

4
3

85) ~ fcr~~~ ~ it ~ ~ ~ ~ em 1.:f«f (fiT 180 ~ if 30% EIilCh{UI m 'JlI\11 %;, 0fl1t -3ik,!@
20% E~Ch{UI ~ it ~ i3llCf~w.n~ CRlT i'llll I

1) 320 ~ 2) 280 fu.:r
3) 220~ 4) 160~

86) For conducting a Standard Proctor Compaction Test, the weight of hammer (P in kg), the fall of hammer
(Q in rnm), the number of blows per layer (R) and the number oflayers (S) required are respectively

P Q R S

1) 5.89 550 50 3
2) 4.89 450 25 3

3) 3.60 310 35 4

4) 2.60 310 25 3

86) ~ ~ ~ ~ ~ i3i1~(Mii~ it ~ ~~ (fiT Cf\lf1 (P, kg it) ~~ ••C@ ~,(Qmm if) 1.:f«f
~ ~ em ~ (R) '3fR ~ em ~ (S) em i3llCf~~ ~~T: m-ffi ~

P Q R S

24

87) Sheep-foot rollers are recommended for compacting

1) hard rock

3) .cohesive soil

2) granular soil

4) any type of soil

87) ~Tr:r,~ ~ ~ ~ if Cf)[l1 \31Till% I

l)~Ucn

3)~~

2)~'~

4) fcRTI '4T >Tcm: em ~
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88) Given that for a soil deposit
K :::earth pressure coefficient at rest

o

K. = active earth pressure coefficient
K = passive earth pressure coefficien

p

/1= Poisson's ratio
The value of (1-/1)1/1 is given by

1) Ko

3) K/Ka

K/K2) a p

4) l/Ko

88) ~ ffiq'lDic fitcit ~ ~ ~ 1p:ff ~
K :::fcr~ ~-, <:]q ~

o
Ka =~ ~ <:]q Tricn
Kp= ~ lfGJ <:]q 20licn
/1 = cqffir Chl ~ (1-/1)1/1 Chl l1'Ff m<rr

1) Ko

3) K/Ka

2) K/Kp

4) lIKo

89) A gross bearing capacity of a 2.0m wide strip footing at a depth of 1.5m is 450 KN/m2. If y =20 K..Nlm3,

what is the net hearing capacity ?

1) 400 KN/m2

3) 420 KN/m2

2) 410 K..~/m2

4) 430KN/m2

89) 1.5 +ft. ~ ~ 1::R ~ 2.0m tll!$l ~ ~ it ~ ~ ~ ~ 450 KN/m2 ~ I ~. y=20 KN/m3

~"\' ~?
02, ill ~if ~ ~ CRlT O2.

1) 400 KN/m2 2) 410 KN/m2

3) 420 KN/m2 4) 430 KN/in2

90) The size of square bearing plate in the plate load test for determining the bearing capacity of soil should be

1) less than 300mm , 2) between 300 mm and 750 mm

3) between 750 mm and 1.0m 4) greater than 1.0 m
.;,;

90) ~ ~ ~ it ~ ~ ~ ~"'+1ill ~ ~ ~ ~ ~ ~ ~ Chl ~ ~ ~

1) 300 Q;l1.Q;l1.B q)1=f

2) 300 Q;l1.Q;l1. 0fR 750 Q;l1.Q;l1. ~ cfR:r
3) 750 Q;l1.Q;l1. i3ffi 1 ~ ~ cfR:r

4) 1~B,*~
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1,. 91) A bar made ofa material" rich has modulus of elasticity 2 x 105 Mpa and poi-on's ratio 0.25. 'Which one
of the following corresponds to shear modulus of the material?

1) 0.2 x lOs Mpa

3) 0.5 x 105 Mpa

2) 0.4 X 105 Mpa

4) 0.8 x 105 Mpa

92) In a propped cantilever beam ABC, Fixed at end A and propped at B. AB == L and overhang BC == Ll4. A
point load "P" is applied at C will generate moment at A:

1) PL/2

3) PL/8

2) PL/4

4) PLIlO

93) A shaft of length L having torsional rigidity GJ is subjected to a torque T. The corresponding stiffness shall
be:•• 1) TJ 2) GJI - -

L L

3) TG 4) TJ
-

L GL

94) Euler's critical buckling load for a c?lumn fixed at one end and free at other end is:

1) 1[2EI 2) 1[2EI

95) A rectangular block is subjected to normalstresses on two orthogonal faces 600 Mpa and 400 Mpa of
same nature. What shall be maximum shear stress produced on a plane?

1) 500 Mpa

3) 250 Mpa

2) 300 Mpa

4) 100Mpa

96) Consider following for a short column: (i) fails primarily due to crushing, (ii) Ultimate load capacity depends
upon its length, (iii) Yield stress governs crushing strength. Which one of the following is correct answer?

1) .i only

3) i and iii only

2) iand;libiily

4) ii and iii only

97) Radius of gyration of two rectangular columns is in a ratio of 3 : 1.What shall be the ratio of their depths?

1) 3: 1

3) 1: 13
2) 1: 3

4) 13: 1
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98) A free end of a cantilever beam otates by 0.001 radians under a point load 10 kN. '"'-hendeflection at the
free end due to a moment of lUv kN-m is:

1) lOmm 2) 20mm

4) 40mm3) 25mm

99) A prismatic beam of uniform flexural rigidity EI is simply supported over a spam, L. If a moment, Mis
applied at one support, the resulting bending strain energy is:

1) ML2 2) M2L
EI

3) M 2L
4EI

100) Which one of the following represents curvature of a beam subjected to pure bending?
f
I
i

I
!

I I

1) ±y'(l+y") 2 2) ± y "(1+ y ") 2

3--
3) ±y"(1+y") 2 4) ± Y 1(1+ y ") 2

10 1) As per IS code provision the tolerance on placing of reinforcements in a structural member having effective
depth more than 200 rnm shall be:

1) ±25mm

3) ±15mm ~

2) ±20mm

4) ±lOmm

102) A curve showing percentage passing on ordinate vIs sieve size on abscissa of aggregate a horizontal portion
for certain range indicates:

1) Continuous grading 2) Gap grading

3) Mixgrading 4) porous grading

103) Partial safety factors to be taken for concrete and steel reinforcement, respectively, for design purpose as
per IS:456-2000are:

1) 1.5 and 1.5

3) 1.15 and 1.5

2) 1.5 and 1.15

4) 1.15 and 1.15

104) In a monolithic slab-beam RC constructions transverse reinforcement to be provided in the slab shall be:

1) 60 % of main reinforcement at mid span

2) 50 % of main reinforcement at mid span

3) 40 % of main reinforcement at mid span

4) 25 % of main reinforcement at mid span
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105) For limit state design ofRC beam consider following:

(ill) [x '~max = 0.48]

Which one of the design criteria shall be applicable?

1) Balanced section

2) Over-reinforced section

3) Underreinforced section

4) both balanced and over reinforced sections

I 106)Most appropriate hot rolled indian standard section for steel girder is:

1) ISMB

3) ISWB

2) ISLB

4) ISHB

107)Gauge length of steel specimen as per codal provision is:

1) 5d 2) 5.65Fo

3) 6d 4) 8d
r

Where d : larger dimension of the specimen; Ao : cross sectional area of the specimen

108)Which one is correct about prying force?

1) -Additional tension force

3) Additional bending moment

2) Additional compressive force

4) Additional torsional force

109)Reduction in design shear capacity of bolts due packing plate in excess of 6mm is expressed (as per
IS800-2007) by :

1) 1 - 0.0125tpm

3) 1-0.12tpm

2) 1 - 0.125t
pm

4) 1- 0.25tpm

Where tpm:thickness of thicker packing plate
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110) Transverse shear to be considered for design of batten plate is:

1) 2.5 % of axial force

3) 10% of axial force

2) 5 % of axial force

4) 25% of axial force

Ill) A concrete mix has entrapped air about 1% results in:

1) Poor quality of concrete

3) Improved quality of concrete

2) Average quality of concrete

4) Requires less quantity of water

112) Which one of following is not mechanical property of bricks?

1) Modulus of rupture

3) Tensile strength

2) Texture

4) Fire resistance

113) Relevant IS code for specification of bath type concrete mixers is:

1) IS: 1786

3) IS: 2502

2) IS: 1791

4) IS: 2506

114) Tolerance limits for dimensions of bricks in length, width and height, respectively.for a sample of 20 bricks
taken together as per IS code are:

1) 2000mm, 90mm, 90mm

3) 80mm,40mm,40mm

2) lOOmm,95mm,95nun

4) 50mm,20mm,20mm

115) Consider following requirement of documents for agreement to be signed for a construction project:

(i) Letter of acceptance (ii) General conditions of contract

(in) Conditions of particular application (iv) Technical specification

(v) Drawings (vi) Priced bill of quantities

Which one of the following is correct answer?

1) i, ii, iv and v only

3) ii, iii, iv and v only

2) i, iii, iv and v only

4) All

116) When the F9 key ofthe keyboard is pressed, the following facility is toggled on/off:

1) Snap

3) O-Snap

2) Ortho

4) Grid
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116) GfGT cit ~ CfITF ~ ~ \Jffiff % m 1-19 if it ~1'1("{1 ti,Rtm w.. -q-rm inTI %1

1) ~ 2) ,:maT
3) ~-ffi 4) f%

09 - .:. 30

117) What does WCS stand for ?

1) Western CAD system

3) World coordinate system

2) Worldwide coordinate sectors

4) World CAD setting

117) ~ m l:!;B (WCS)CfIT~ ~ CRn WIT

1) ~~~

3) cwi CfiT·~ ~

~ "'~~"'2) q ql$6 Cf)fI;)1IF5'1C ~

4) cwi ~ BfVT

118) The Fillet command creates:

1) Sharp corners

3) Round and Sharp corners

2) Roundcorners

4) None of above

118) ~ ~' it q.:n7:rr \JfffiT% :

1) ~~

3) ~ ~ lllctl6f)H ~

2) lllctl6f)l< ~

4) '3Q<tCRl if "B" ~ ~

119) What keyboard key used for polar on/off?

1) FLO 2) Fll

3) F12 4) F8
119)~ 0If.:f/~ cnR"~ ~ ctt-cili if ~ qc;r fffi:rr % I

1) ~LO 2) ~1l

3) ~12 4) ~8

120)Which command allows you to change the line type scale?

1) LT 2) LTS

3) LS 4) LTSC

120)R9 if "B" ~ ~ ~ ~ ~ ~ %7
1) LT (~ fr) 2) LTS (~ fr l:!;B)

3) LS (~l:!;B) 4) LTSC (~ fr l:!;Bm)


